Millionaire - BIDMAS and Number Work
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Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

15

Correct Answer: ABCD
Explanation:
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Correct Answer: ABCD
Explanation:

This works out to be

Correct Answer: ABCD
Explanation:

What is the size of the answer ? s, [T

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:
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Correct Answer: ABCD

Explanation:

SO N T P PP P P T

(50:50)

N

What s this number?

- Five million ] Fifty million

@ C: Five hundred thousand = _ Fifty thousand .

Correct Answer: ABCD
Explanation:

Whatis theanswertothis? < > [ R R L LR EERRREE

Correct Answer: ABCD
Explanation:

Whatls the value of this calculation? @ @ > IR e e R R e R R R R R LR R R

Correct Answer: ABCD
Explanation:

Whatdoesthismean? < > [ T T L R R P PP PP

2inabox .
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Correct Answer: ABCD
Explanation:

Correct Answer: ABCD

(6 + 4) X (5 - 2)/@1 Explanation:

(50

What Is the value of the calculation ?

48 .

None of these! .

Correct Answer: ABCD
Explanation:

What is the value of this ?

Correct Answer: ABCD
Here are the first 5

numbers in a sequence: Explanation:

None of these .
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